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e
R385 (b) Calculate the cost per unit for 18900 and 21 000 units of production using the
S total costs calculated in part (a).
: 8 =
S 2:: 16800 18900 21000
9 units units units
2 B s s $
oo s =
M e |
= E Total costs 232650
25 B
T = _
@ = Cost per unit 13.85
85 509 o
= 2
o 2 Workings:
8 &
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; :Eut: e (c) Explain why the cost per unit decreases as production increases.
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(~ A
: The supplier is now proposing to supply material LM55 only in quantities of 1000,
S5 2000 or 3000 units, and is willing to offer the following quantity discounts.
2
2 S Order size | Discount
S a
= e 1000 2.5%
= Z
= =
s ol 2000 5%
o =
Z
~
x = 3000 7.5%
& c0
= 2
= (o) (b) (i) Complete the following table to show the annual costs for Mbokani Ltd if the
= o above quantity discounts are available.
(6)
Order quantity 1000 2000 3000
: Purchase cost
D é Ordering cost
o9 <
3. (72} Inventory holding cost
5 E
S S Total
3 E g (i) Identify the order quantity that would minimise costs.
@ 5 (1)
Ak s
(c) Explain three benefits that could be obtained from operating a system of
S inventory management and control.
35 (6)
s e
&
S ;
=
L
o o &=
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S5 (Total for Question 2 = 20 marks)
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f w
(a) Prepare a statement for the period that reconciles the actual production costs
incurred with the standard costs of production and shows the total variance for
each element of the production cost.
(9)
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(i) volume (activity).

(c) Evaluate, giving reasons, each of the production control ratios calculated in (b).

(3)
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(i) Wages control account

(2)
Details S Details S
(iii) Production overhead control account
(3)
Details S Details S
(iv) Work-in-progress control account
(3)
Details S Details S
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N
(ii) trade receivables collection period (days)
(3)
(iii) trade payables payment (days)
(3)
(iv) current ratio
(2)
(v) acid test (quick) ratio.
(2)
J
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(b) Evaluate the liquidity of each company, suggesting which company has the best
liquidity position.

You should refer to the ratios calculated in part (a) and the financial information
on page 18 to support your answer.
(8)

(Total for Question 5 = 21 marks)
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